OCTOBER 2011 U/ID 1862/TZM

Time : Three hours Maximum : 100 marks
SECTION A — (5 x 8 = 40 marks)

Answer any FIVE questions.

All questions carry equal marks.
1. What are the basic characteristics of
underdevelopment?
aueTT&SluflemenLoudlen ojiq LILIenL @UIGDL|EET WITene.?
2.  Explain the merits and demerits of ‘Green
Revolution’ in India.
@pdwumeiler usemwls Lrldlufer BerenogeT OHMID

Sensemar cllaTdEs.

3.  Explain the need and scope for land reforms in
India.

@Qidurelley  Heosfrdmsssdar  Coameu  LHMILD
eI 6N 6ITd:(35.

4.  What are the causes for sickness of large scale
industries in India?

@ndlwmedled QumBEg TS 6 6T Bl 6y &amen

STTEUTHRIGET U TEHE ?



Discuss the importance of agriculture in economic
development.

Qumrmermg Ty cueTT&&ludled CeuarmenrenLoudl e

W&Ewusgiousams elleflss.

Explain the need and objectives of economic
planning in developing countries.

aueTHD  BrhH&ER&sE Curmermgsrrs L lHigeden
Caaneu HMID GNECHTETHMmET 6l @ s5.

Explain the achievements of national rural
employment programme.

Cadlw sarps GeuameveumiliLg S L_sdler sTsamanseanar
ellend@s.

Discuss the scope for India’s foreign trade in the
context of globalisation.

2 @swrgadler Bleaoule @BHu  Dwe  BTLH

auranfluglen cumiiiGenen edleuflés.

SECTION B — (3 x 20 = 60 marks)
Answer any THREE questions.

All questions carry equal marks.

Discuss the achievements of five year plans in
India.

@pdumeild ghsram® SHLBiseler FrsamensHmar
clleufas.
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10.

11.

12.

13.

Discuss the causes for the growth of population in
India and measures to control it.

@ndureild wasaThgTans CLmEsSH 6 SyaThiseT
LHMID S sL_HLLHSSHID eudlsamer alleuss.

Discuss the role and functions of food corporation
of India.

@QBIL 2 aels spssdler LBIE WLHMID Umilsmer
alleurl.

Discuss the causes for law productivity in Indian
agriculture. Suggest suitable measures to increase
agriculture productivity in India.

@pdwu  Geuermewrenoudley 2 HUSH  GemelDaTer
srravaigemer  afleufl.  @pHureler  Gouermemento
2 HUSH ASHSAULFDETET HL GG ENEHEDET H(TH.
Discuss the remedial measures to solve the
unemployment problem in India.

@ndHwmeiled Gausmevudeveor KpFgenareniL
Curs@eusnsrer ey pLallgsamssamar adlalfl.
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